13

a
b
c
Okgw
5kgw 0.5kgw
BASIC
Okgw 3kgw 0.5kgw
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LI LIS

0.434[kgw]
[ka] W [kgw] V] V] V]

1 0 0 0.00 0.00 0.00

2 0 0.434 0.12 0.12 0.12

3 05 0.934 0.26 0.25 0.26

4 1 1434 0.40 0.38 0.39

5 15 1034 0.54 052 053

6 2 2.434 0.68 0.64 0.66

7 2.5 2.934 0.80 0.79 0.80

8 3 3.434 0.93 0.93 0.93

9 35 3.934 1.08 1.06 1.07

10 4 4.434 1.22 1.19 121

11 45 4.934 1.36 1.32 134

13 5 5.434 1.50 1.46 148

W-V

0.99999~ 1.0

Microsoft Excel
V =0.2716W + 0.0007 [V] R



1.60

e

1.40 .
a
120 | 2
&
1.00 |
E %
= 0.80 %
*
a
060
1
040 &
4
0.20
|
0.00
0 1 3 4 5
W [kgw]
2 W-V M
[ ]
() O[kgw]
y=ax+b
Sh
D Y -
Yy % - (X% n-2
W [kgw] | W? [kqw’] v [v] v [v] V] 2 VA
1 0 0 0.00 0.00 0.00 0.0000
2 0.434 0.188 0.12 0.12 0.00 0.0000
3 0.934 0.872 0.26 0.25 0.01 0.0001
4 1434 2.056 0.39 0.39 0.00 0.0000
5 1934 3.740 0.53 053 0.00 0.0000
6 2434 5.924 0.66 0.66 0.00 0.0000
7 2.934 8.608 0.80 0.80 0.00 0.0000
8 3.434 11.79 0.93 0.93 0.00 0.0000
9 3.934 15.48 1.07 1.07 0.00 0.0000
10 4434 19.66 121 1.20 0.01 0.0001
11 4934 24.34 1.34 1.34 0.00 0.0000
12 5.434 29.53 1.48 1.48 0.00 0.0000
32.3 122 0.0002




Sb

X2 2
s, - 2 . 2 \/ 122 00002 5002 V)
ny x> - (X xf n-2 V13x122-323° 11
1) 0
V =0.2716W [V] _—
10
Microsoft Excel 0.434[kgw]
10
[kal W [kaw] V] V] [Vl
1 0 0 0.00 0.00 0.00
2 0 0.434 0.09 0.12 011
3 0.5 0.934 0.22 0.24 0.23
4 1 1.434 0.36 0.36 0.36
5 15 1.934 048 0.50 0.49
6 2 2434 0.64 0.64 0.64
7 25 2.934 0.78 0.80 0.79
0.90
0.80 s
0.70
0.60
=050 %
>
0.40
L
0.30
%
0.20
a
0.10 .
000 ®
05 1 15 2 2.5 3
W [kgw] .
[ ]
3 W-V




r=0.9991~1.0

10

10

V = 0.2682W —0.0136 [V]

2 Shb
2 2
5 - > x 2 .Z :\/ 21.4 2 00012 _ )0 v
Ny x2 - (Z X) n-2 7x21.4-10.1
b=-0.01+0.01 [V]
ov]
Sb
4
V =0.2682W [V] S
10
W Tkow] | W” [kow’] Vv [V] vv] M ° 1V
1 0 0 0.00 ~0.01 0.01 0.0001
2 0.434 0.188 0.11 0.10 0.01 0.0001
3 0934 0.872 0.23 0.24 ~0.01 0.0001
4 1434 2.056 0.36 0.37 ~0.01 0.0001
5 1.934 3.740 0.49 051 ~0.02 0.0004
6 2434 5.924 0.64 0.64 0.00 0.0000
7 2934 8.608 0.79 0.77 0.02 0.0004
10.1 214 0.0012
(3).(5) 10
F (3).(5)
(3)< V=02716F |V]
(5)= V=02682W [V]
V

(6)

F = 0.9875W [kgw]



4
35 /
F = 0.9875W /
3
2
9 /
15 /
1 /
0.5
0
0 0.5 1 15 2 2.5 3 35 4
W [kgw]
4 W 10
Ax,Ay B

—

FLRL IV




A +B,=0
{—F+Ay:O

LAL LS

Bx:_A<
‘D{AfF

Fia

V2

_%FM_FlS =0
Fis —F+%Fl420
F14=\/§F
=
F F15 =-= F,=-F

Fio
L.2F —F, =0
~Fy-LF=0

N

F13

J(2)F @{FN:F

FB {_F_Flz_%lznzo

Fg F13+%F11:0

9F = {Fll = _\/EFlS =/2F

F,=-F-LF,=-2F

Fg



{F +L J2F-F,-LF, -
LF-F-L-2F=0
3/ (2)F

{ F, = 2J2F ++/2F =3/2F

F,=2F-L1F,=-F

F2 F,-+-3J2F =0
‘ \\ ~F-1-3J2F =0
3 (2)F C>{F2:3F
Fs

F, = -3F

F,=0

{%F ~F,-F-L1.2J2F =0

3F
Fa e
LF,-3F+L-2J2F =0
Fe < F F, =/2F
=
F,=—+% J2F —-F-2F =-4F

W(2)F
Fi F,=0
{B = 4F
Bx 4F A =-B =-4F
A
. A =L 2F=F
I 3F-4F +L.2F =0
4F - \DgF O.K.

VA2)F 9



\/

LAY

A =—4F A =F

B, =4F

F,=0 F,=3F F,=+2F F,=—-4F F,=-3F
Fo=3J/2F F,=-F F,=-2J2F F,=2F F,=F
F,=v2F F,=—2F F,=-F F,=+2F F,=-F

F/F
1 0.00000 0.00000
2 3.00000 3.00000
3 1.41421 141421
4 ~4.00000 | -4.00000
5 -3.00000 | -3.00000
6 4.24264 4.24264
7 ~1.00000 | -1.00000
8 ~2.82843 | -2.82843
9 2.00000 2.00000
10 1.00000 1.00000
11 1.41210 1.41210
12 -2.00000 | -2.00000
13 ~1.00000 | -1.00000
14 1.41421 141421
15 ~1.00000 | -1.00000

10



Sa

F F1o Fs Fis

10 Fio
W[kgw]
Fio =W [kgw] F,, =0.9875W [kgw]

Sa

_ L Y
RO

2
n > 13 100002 _ oo [Vikgw]

nyx-(3xf n-2 V13x122-323 11

a=0.2716+0.0007 [V/kgw]

s _ n D \/ 7 00012 _ ) o [Vikgw]
a 2 - 2 -
Y x? -(ZX) n-2 7x21.4-10.1 5

a=0.268+0.006 [V/kgw]

S, = /000072 + 0.006° = 0.006

F,o /W = 0.988+ 0.006

S=10.0062 +(0.988x 0.05)° = 0.05

F,o/W = 0.99+0.05

1-0.99 100-10 [%]

11



Pc Oc

2 2
K ﬂgEl o =k ”/IZE
a 1/4
b 1
c 4
d 2.046
A 14 A |
A= E,/A/I
2
‘, Jk
(b)
=t
E P
| &
—
i
M
i . -
# .-"'r-""-y. E .-"'},.
{a) (d)
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Oc¢
2 2
O'c=k”2ESO'Cy LZ 7 E
A Jk | oy
/1/«/? 1lfzzE/O'cy
°
o, = %o 5 O, a
1+al
H H | oo (MPa) a [ A
A 1/1600 [ < 80
" 245 | 179000 | < 110
LA 333 /7500 | < 90
i 481 | 1/5000 | < &5
A M| 40 [ 1f 750 | < 60
°
o, =o,(l-al) o, a
# B | oy {MPa) a A
O 207 00426 | < lli_
# | 304 | 000368 | < 106
W & 329 0LOHES | < 80
* # 28.7 | 0.00626 | < 100
°
2
_ _ Ot c
7 UW{ 47z2E] ?
(b)
‘y Ak

O cy



p.10

4x 16x ¢ [mm] ¢ =150 [mm]

¢ =1504/2 = 212.1 [mm]

¢ =150 [mm]
A=w-1=16x4=64 [mm?]

= ivvt3 85.3 [mm4]

A= £\/7 150, / =130

1
2 2

P =kZ ZE' _x7 X285'3 E =0.0374E [N] E[N/mm?]

/ 150

7°E 1>< 7 2
o, =k—=="—"5E=584x10"E [N/mm?]

2130

A2017 E=71.5[GPa]

Pc=0.0374x 71.5x 103 2.67 [kN]
0 ¢=5.84x 104x 71.5x 103=41.8 [MPa]

Oy ~ 200 ~ 400 [MPa] o.<0

W.:P,. =1:4

C

W =" _e81 [kgw]
49

14



(=212.1 [mm]
A=64 [mm2]
| =85.3 [mm4]

A= EX/K = 212.1,/ﬁ =184
I 85.3

72El _1x 7% x85.3
02 212.1°

2 2
7 E D e 92x10E [NIMmM?]
184

P, =k

C

E=0.0187E [N]

o.=k 7z

E=71.5[MPa]
Pc=0.0187x 71.5x 103 1.34 [kN]
0 ¢=2.92x 10-4x 71.5x 103=20.9 [MPa]

c oy
W, P, =1:2y2
P
W, =—%-=482 [k
“ = g [kgw]
1).(2)
WCS <Wc4
W, =48.2 [kgw]
1).2)
E=10[GPa] )

P.=0.0187x 10x 10% 187 [N]
0 ¢=2.92x 104x 10x 103=2.92 [MPa]

o, ~40~60[MPa] 0, <0
=)
W, =—¢ 674 [kow]
24/2g

15

E[N/mm?2]



F/F

1 0.00000
2 3.00000
3 141421
4 -4.00000
5 -3.00000
6 4.24264
7 -1.00000
8 -2.82843
9 2.00000
10 1.00000
11 141210
12 -2.00000
13 -1.00000
14 141421
15 -1.00000
2002
2002
2001
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p.34 39

p.193 204
p.140 148



